NS7-74 Percent Problems

1. Calculate.
a) 90% — 75% + 34% = b) 39% + = 100% c) 86% — =14%

-2. What is the sales tax where you live?

Calculate the amount of tax you would pay on each price.
a) $20 b) $35 c) $82.75 d) $93.24

3. In the school elections, § of the students voted for Laura and 12% voted for Zamir.

The rest voted for Shaw-Han. What percent voted for Shaw-Han?

4. A painter spent $500.00 on art supplies. Complete the chart.

Money spent
Item
Fraction Percent $ Amount
Brushes $125.00
3
Paint — _ :
e | ! 10 | : S

Canvas . 45%

5 -A student hopes to raise $200 for his favourite charity. He has already raised $60 -
- by having a garage sale What percent of the $200 does he still need to raise? e

6. Complete the chart.

Iltem Regular Price ?pi:f:eunrg (g iasrﬁ?:lljrrlltt) Sale Price
Sweater | $52.00 - == 0%= $5.20 $52.00 — $5.20 = $46.80
—Boots | $38.96 25%
: Boglg ~$9.80 ;"_ . 30% - wm —

-~ -7= Simone bought a bass guitar at a 20% discount. She paid $600. How many dollars
did she save by buying the guitar at a discount?

i h Stephen spent $670 on furniture. He spent 25%.on a chair, $234.50 on a table, and the
——,—rest-onﬁofaﬂNhatAfractiondancfwhat*percent*offthe—$6‘70‘did*he-spencforreacrritem?

9. Alake has about 1 200 fish, 12% of them sturgeon. As part of a conservation program,
- 200 more sturgeon are released into the lake. How many sturgeon are now in the Iake’?
What-pereent- anekwha%fractlorroﬁheﬁsh in-the-lake-are-sturgeon?
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NS7-75 Relating Fractions, Ratios, and Percents

’

1.. Write the number of boys (b), girls (g), and children (€) in each class.

a) There are 8 boys and 5 girls in a class. b g c
b) There are 4 boys and 7 girls in a class. b g c
c) There are 12 boys and 15 girls in a class. b ' g c
d) There are 9girlsin a class of 20 children. b g c
2. Write the number of boys, girls, and children in each class. Then write the fraction
of children who are boys and the fraction who are girls in the boxes provided.
a) There are 5 boys and 6 girls in a class. b — g | c
b) There are 15 children in the class b — g - c ‘
and 8 are boys. 9 il
3. Fillin the missing numbers for each classroom. ‘ 1’
i
il
- i
Ratio of Fraction Fraction Percentage Percentage -
boys to girls of boys of girls of boys of girls -
3 2 3 60 (e
a : — — ——=——=60% - 40%
—) =242 5 5 5 100~ A
b) 1:4
3
c e
) 4
d) =L == —
\ 27 I
€) -
g 50
S e ==
; - 11 -
9) 5
h) 35%
) - B 44%
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4. Fillin the missing numbers for each classroom.

| Number Fraction Fraction Number Number
| of students of boys of girls of boys of girls
a ' 4 1 4 _
=X — —%x20=16 4
1 2) 20 5 5 5
' 1
b) 30 3
C) 28 %
7
d 26 —
) 13

5. Determine the number of girls and boys in each class.
a) There are 20 children and % are boys. b) There are 42 children and ; are girls.

c) There are 15 children. d) There are 24 children.
g ‘The ratio of girls to boys is 3:2. ~ Theratio of girlsto boysis3:5.

e) There are 25 children and 60% are girls. f) There are 28 children and 25% are boys.

6. For each question, say which classroom has more girls.

-~ a) InclassroomA, there are 40 children and 60% are girls.
' Inclassroom B, there are 36 children. The ratio of boys to girlsis 5: 4.

b) In classroom A, there are 28 children. The ratio of boys to girls is 5 : 2.

In classroom B, there are 30 children and % of the children are boys.

' 7.. Ron and Ella shared $35 in the ratio 4 : 3. What fraction of the money did each
person receive? What amount of money did each person receive?

8. Indra spent 1 hour doing homework. The chart shows the time she spent on each

( subjeeEQo'mpleteAthechartrHowfdidyowﬁnd*theamountoﬁimnrlndra*spenton‘math? _

Time - e e oo |
- | Subject | Fractionof | : Decimal T
Percent Minutes
an hour , ~ (hours) , -
English % .25 , 15
Science 2 5%
—— -1t ™mMath {07 — '
- French—}——r——e-—— —— =y : i A
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NS7-76 Using Linear Models to Solve Problems

1. Fillin the blank.

a) A T_T ] b) AT ] ¢) AT T T
BL_ 1 L 1 [ 1 BL 1T [ [ [ 1] - ¥ I p— I I 1
BarAis 3 the length of B. BarAis the length of B. BarAis the length of B.
]

e

, boys are there?

e ———— e — = SR e ——

Problem: Seventy-five students are on a bus.

Solution: The 5 units in the diagram represent the 75 students.
So 1 unit represents 75 + 5 = 15 students. The bar representing
boys is 2 units long. So there are 2 x 15 = 30 boys.

e s

2
There are 3 as many boys as girls. How many

‘Boys [T
Gils T T
Lo

1 unit

Lo

2. Find the number of boys by drawing a linear model, as in the example above.

a) There are 40 students on a bus. There are g as many girls as boys.

b) There are 27 students on a bus. There are ; as many boys as girls.

3. The bars below represent the number of red
- Fill'in the blanks.

a) g T T ]

by g LT T ]

(r) and green (g) beads in a box.

c) g (I 117

r 1 [ |

r L1 [ |

r LI T T T T 71711

- 10 more red than green

1 unit = beads

beads altogether

8 more red than green

1 unit =

40 more red than green

beads 1 unit = ‘beads

beads altogethﬁe(

;LDLaw,a,modeLto,ﬁndfthefnumberfof—red—and—greenfbeadsin”each‘proble‘r‘n.

_ beads altogether |

b)red beads-:greenbeads =35

a) % as many green beads as red beads
o -

— 10 more red beads than green beads =

‘67moréigreen' beads Vtrhgn*riéid beads

9. Solve the following problem using the diagram as a model.

How many fish are in the tank?
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6. Draw a model to solve this problem: One third of the fish in a tank are orange.

red green blue ‘

A A i

One quarter of the fish in a tank are red. The rest are blue and ' " | F q |
green. There are 6 more green fish than red fish. There are - I
24 blue fish. t LS -
4 |

I

~_The J:es,tategyellow,andfblueﬁTherear&&morefyellowfﬁsh*tharrorange‘ﬁsh.
There are 10 blue fish. How many fish are in the tank?

|
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